REEBIEICS D UFBAEICI U =HREOTILD || emewpaa

SETERERERREERESR

B3
F—2Q) *(455%)-F(38m) - F(15rk) = AHE
HE5UYA 3,000,000 #&rrgszE 2,020,000H
B[
EES B EEN TEN =5
FrEEl | B9FE | G | BFD | SR | BFER
SH2EE 87,100 82,800 28,300 34,200 25,100 11,600 269,100

FHBEE (0.5%) 87,600 83,100 28,400 34,500 25,200 11,600 270,400

FHSEE (1%) 87,900 83,700 28,600 34,500 25,400 11,700 271,800

FH3EE (1.5%) 88,400 84,000 28,700 34,800 25,400 11,800 273,100

FFISEE (2%) 88,800 84,600 28,900 34,800 25,700 11,800 274,600

FFISEE (3%) 89,800 85,200 29,000 39,400 25,900 12,000 277,300

SFISEE (4%) 90,600 86,100 29,400 39,700 26,000 12,100 279,900

(BB RERKRHE 108,100 119,700 38,900 40,800 40,800 18,700 367,000




RIRBINEIC K ZMFRBAICK U =HEOEL

T—RAQ HE5(30m%)

w5 A 1,000,000

TATiF& %R 450,000/

BEf&H
E&ES BPXEED &N =k
FREl | ¥FR | EE | BFE | FRE | 9ER

SH2EE 1,000 13,800 300 5,700 0 20,800
SHIBEE (0.5%) 1,100/ 13,800 300 5,700 0 20,900
FHIEE (1%) 1,100{ 13,900 300 5,700 0 21,000
SHIBEE (1.5%) 1,100{ 14,000 300 5,800 0 21,200
SHSEE (2%) 1,100{ 14,100 300 5,800 0 21,300
FHIEE (3%) 1,100{ 14,300 300 5,900 0 21,600
SHSEE (4%) 1,100{ 14,300 300 5,900 0 21,600
(BE) BERIBHE 1,300/ 19,900 400 6,800 0 28,400




RIRBINEIC K ZUHFRBAICK U =HIFOELS

T—AQ F(61m) -E(B8m) = At
* #5IXA 5000000 # #H54XA 1,000,000MH

wUX A 6,000,000 #sprs&%8 4,010,000

B[
EES BHXEEY &R =5
FrREl | BEE | FrEE | BED | rEE | BEE
SH2FEE 172,600 55,200 56,000 22.800 49,700 23,200| 379,500

THBFE (0.5%) 173,500 55,400 56,300 23,000 50,000 23,200| 381,400

SFISEE (1%) 174,100 55,800 56,700 23,000 50,400 23,400| 383,400

THISEE (1.5%) 175,100 56,000 57,000 23,200 50,400 23,600| 385,300

THBEE (2%) 176,000 96,400 57,300 23,200 51,000 23,600| 387,500

THBEE (3%) 177,900 96,800 57,600 23,600 91,300 24,000| 391,200

THBEE (4%) 179,500 97,400 58,200 23,800 91,600 24,200| 394,700

(BB RERIRH = 214,200 79,800 77,100 27,200 80,900 37,400| 516,600




RIRBINEICE B MHFRBRICK U EHREBEOIELD

T—2A@ F(10m)-E(68m%) = At
*x F£&INA 2,000000H £ FxIXA 800,000MH

fUX A 2,800,000 #sprS<%E 900,000M

BHf:H
E&S BHXEES TEEN =1
igEl | BEE FE | BER &2

SH2TEE 25,700 27,600 8,300 11,400 0 73,000
SHBEE (0.5%) 25800 27,700 8,400 11,500 0 73,400
FH3EE (1%) 25,900( 27,900 8,400 11,500 0 73,700
SHIBERE (1.5%) 26,100/ 28,000 8,500/ 11,600 0 74,200
FHMBEE (2%) 26,200 28,200 8,500/ 11,600 0 74,500
FHBEE (3%) 26,500| 28,400 8,600 11,800 0 75,300
FHBEE (4%) 26,700 28,700 8,600 11,900 0 75,900
(5% ZERRH R 31,900/ 39,800 11,500| 13,600 0 96,800




RIRBINEIC K B MHFRBARICK U =HBOELLS

r—2O BEH(70m%)

FEINA 1,000,000 #rEEsE 0

B M
E&ES BHXEES €D =1
REl | %R | RE | B9%FE | AEE | BED

SH2EE 0 8,200 0 3,400 0 0| 11,600
SHIBEE (0.5%) 0 8,300 0 3,400 0 0| 11,700
SHSEE (1%) 0 8,300 0 3,400 0 0| 11,700
SHIBEE (1.5%) 0 8,400 0 3,400 0 0| 11,800
FHMBEE (2%) 0 8,400 0 3,400 0 0| 11,800
THM3EE (3%) 0 8,500 0 3,500 0 0| 12,000
FHBEE (4%) 0 8,600 0 3,500 0 0| 12,100
(55 BERIBHE 0| 11,900 0 4,000 0 0| 15,900




